/ey H—DR)G%E Y 3y THEDR

#define sensorl 2

#define sensor2 17

#define sensor3 3

#define sensor4 18

int sensorinl;

int sensorin2;

int sensorin3;

int sensorin4;
//A0~A5—D14~D19 Z#an]gE
volatile int sens1;

volatile int sens2;

void setup() {

pinMode(sensorl, INPUT_PULLUP);
pinMode(sensor2, INPUT_PULLUP);
pinMode(sensor3, INPUT_PULLUP);
pinMode(sensor4, INPUT_PULLUP);

P1~2

attachInterrupt(0, Sensorl, CHANGE);
attachInterrupt(1, Sensor2, CHANGE);

Serial.begin(9600);

void loop() {

serial();

void Sensor1() {

if (digitalRead(sensorl) == HIGH) {

sensl = 1;

}

if (digitalRead(sensorl) == LOW) {

sensl = 0;

}
void Sensor2() {

if (digitalRead(sensor3) == HIGH) {

sens2 = 1;



}
if (digitalRead(sensor3) == LOW) {

sens2 = 0;

}

void serial() {
Serial.print("sensorl");
Serial.print(" ");
Serial.print(sens1);
Serial.print(" ");
Serial.print("sensor?)");
Serial.print(" ");

Serial.println(sens2);



//IN & OUT DX 4 Lg# I Ve 2 —viKRR P3

void printer() {
Serial.print("IN");
Serial.print(" ");
Serial.print(Icntm);
Serial.print(" ");
Serial.print(Icnts);
Serial.print(" ");
Serial.print(Itime2);
Serial.print(" ");
Serial.print("OUT");
Serial.print(" ");
Serial.print(Ocntm);
Serial.print(" ");
Serial.print(Ocnts);
Serial.print(" ");
Serial.print(Otime2);
Serial.print(" ");
Serial.print("INTimepattern");
Serial.print(" ");
Serial. prlnt(INTlmepattern);
Serial.print(" ");
Serial.print("pattern");
Serial.print(" ");
Serial.print(pattern);
Serial.print(" ");
Serial.println(IcntIN);



//timer2 % v 7 P4~12
//Sample using LiquidCrystal library
#include <LiquidCrystal.h>
#include <Boards.h>

#include <Firmata.h>

/*select the pins used on the LCD panel
led Dfio T3 v vEFs
LiquidCrystal(rs, enable, d4, d5, d6, d7)
rs: LCD @ RS ¥ v icEHt 3 % Arduino fllo v v &5
rw: LCD ® RW v v ic##¢ 3 % Arduino fllo v v &5

enable: LCD @ enable ¥ v iC$##i 3 % Arduino fllo v v &5
d0~d7: LCD @ data ¥ v iZ$##i 3 % Arduino fllo v v &5

do~d3 x4+ 7 v avC, BT 2L 4KDT -2 74 v (dd~dD) T CHlIE L £ 3,
LiquidCrystal 1cd(8, 9, 4, 5, 6, 7);

// define some values used by the panel and buttons

int pushbutton = 0;

J/NR—
int INTimepattern = 4;
int OUTTimepattern = 4;
int pattern = 0;
/*I = 1IN
O =0UT
cnts = second
cntm = minute
IR FIR*/
int Icnts = 0;
int Ientm = 0;
int Ocnts = 0;

int Ocntm = 0;

/ /W &R

unsigned long Itimemillis = 0;
unsigned long Otimemillis = 0;
unsigned long Itimel = 0;
unsigned long [time2 = 0;

unsigned long [time3 = 0;

*/



unsigned long Otimel = 0;
unsigned long Otime2 = 0;

unsigned long Otime3 = 0;

/ /g

unsigned long millis();

// Wi % o fth
int IentIN = 0;
int OcntOUT = 0;

//proccesing A EH S

int outTime m = 0; // OUT 22— X%y

int outTime_s = 0; // OUT 22— x:f

int outTime ¢ =0; // OUT 2 —2:+& v F#
intinTime m=0; //IN 22— X:%

int inTime s =0; //IN 22— 2:f
intinTime ¢c=0; //INa2—Xx:%vF#%

// 24 ~—5KK2H 3HHE
int secondOTIME = 0;
int thirdOTIME = 0;
int secondITIME = 0;
int thirdI TIME = 0;
int secondOcntM = 0;
int secondOcntS = 0;
int thirdOcntM = 0;
int thirdOcntS = 0;
int secondlecntM = 0;
int secondlcentS = 0;
int thirdIcntM = 0;

int thirdlentS = 0;

//E %

#define LEFT 0
#define UP 1
#define DOWN 2
#define RIGHT 3
#define SELECT 4
#define NONE 5



//LCD ¥ — %y F¥— L FA 4 v F AT
#define analogswitch A0

// read the buttons

int button() {
pushbutton = (analogRead(analogswitch) / 4);
if (pushbutton >= 240) return NONE;//240
if (pushbutton < 20) return RIGHT;//20
if (pushbutton < 70) return UP;//70
if (pushbutton < 120) return DOWN;//120
if (pushbutton < 170) return LEFT;//170
if (pushbutton < 240) return SELECT;//240
//return NONE;

void timerIN() {
pattern = button();
switch (INTimepattern) {
case 0:

Itimemillis = millis();

Itime2 = Itimemillis - Itimel;

if (Itime2 > 999) {
Itimel = Itimemillis;
Ients +=1;

¥

if (Ients > 59) {
Icnts = 0;
Ientm +=1;

¥

if (pattern == UP) {
secondITIME = Itime2;
secondlcntS = Ients;
secondlcntM = Icntm;
inTime_c = secondITIME / 10;
inTime_s = secondlcntS;
inTime m = secondlcntM;

¥

IcntIN = 0;



break;

case 2:

IentIN++;

if (pattern == LEFT) {
IcntIN = 0;
Itime2 = 0;
INTimepattern = 4;

}

break;

case 4:

IentIN++;

Itimemillis = millis();

[timel = [timemillis;

Itime2 = Itimemillis - Itimel;

Icnts = 0;

Ientm = 0;

secondITIME = 0;

secondlcntS = 0;

secondlentM = 0;

inTime_c = secondITIME;

inTime_s = secondlcntS;

inTime m = secondlcntM;

if (IentIN > 10 && pattern == DOWN) {
Itimel = Itimemillis;
INTimepattern = 0;

¥

break;

void timerOUT() {
pattern = button();
switch (OUTTimepattern) {
case 0:
Otimemillis = millis();
Otime2 = Otimemillis - Otimel;
if (Otime2 > 999) {

Otimel = Otimemillis;



Ocnts += 1;

¥

if (Ocnts > 59) {
Ocnts = 0;
Ocntm += 1;

}

if (pattern == RIGHT) {
secondOTIME = Otime?2;
secondOcntS = Ocnts;
secondOcntM = Ocntm;
outTime ¢ = secondOTIME / 10;
outTime_ s = secondOcntS;
outTime m = secondOcntM;

}

OcntOUT = 0;

break;

case 2:

OcntOUT ++;

if (pattern == LEFT) {
OcntOUT = 0;
Otime2 = 0;
OUTTimepattern = 4;

}

break;

case 4:
OcntOUT ++;
Otimemillis = millis();
Otimel = Otimemillis;
Otime2 = Otimemillis - Otimel;
Ocnts = 0;
Ocntm = 0;
secondOTIME = 0;
secondOcntS = 0;
secondOcntM = 0;
outTime c = secondOTIME;
outTime_ s = secondOcntS;
outTime m = secondOcntM;
if (OcntOUT > 10 && pattern == DOWN) {



Otimel = Otimemillis;
OUTTimepattern = 0;

}
break;

void switcher() {

pattern = button(); // read the buttons

switch (pattern) {
case LEFT:

if (INTimepattern == 2) {
Itimemillis = millis();
Itimel = Itimemillis;
Itime2 = Itimemillis - Itimel;
Ients = 0;
Icntm = 0;

}

if (OUTTimepattern == 2) {
Otimemillis = millis();
Otimel = Otimemillis;
Otime2 = Otimemillis - Otimel;
Ocnts = 0;
Ocntm = 0;

¥

break;

case UP:
if (INTimepattern < 1) {
INTimepattern = 2;
¥
/* if (INTimepattern > 0) {
INTimepattern = 0;
3/
break;

case RIGHT:
if (OUTTimepattern < 1) {
OUTTimepattern = 2;



}
break;

case NONE:

break;

void LCD() {

}

led.setCursor(5, 1);
led.print(Icntm);
led.print(" ");
led.print(Icnts);
led.print(" ");
led.print(Itime2);
led.print(" ");
lcd.setCursor(5, 0);
led.print(Ocntm);
led.print(" ");
led.print(Ocnts);
led.print(" ");
led.print(Otime2);
led.print(" ");

void printer() {

Serial.print("IN");
Serial.print(" ");
Serial.print(Icntm);
Serial.print(" ");
Serial.print(Icnts);
Serial.print(" ");
Serial.print(Itime2);
Serial.print(" ");
Serial.print("OUT");
Serial.print(" ");
Serial.print(Ocntm);
Serial.print(" ");
Serial.print(Ocnts);
Serial.print(" ");
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Serial.print(Otime2);
Serial.print(" ");
Serial.print("INTimepattern");
Serial.print(" ");
Serial.print(INTimepattern);
Serial.print(" ");
Serial.print("pattern");
Serial.print(" ");
Serial.print(pattern);
Serial.print(" ");
Serial.println(IcntIN);

void proccesing() {

timerIN(Q);
timerOUT();
Serial.print("H"); /]~y ZFEAG e % R T 3LF)

// Serial.write (highByte(outTime_c));// OUT 2 — Z;%& v F 7 — 2 i%X(E
// Serial.write (lowByte(outTime_c));// OUT 2 — ;& v F 7 — X %1
// Serial.write (highByte(inTime_c)); // IN 2 — % I V5 — X %{35

// Serial.write(lowByte(inTime_c)); //IN 2 — 2 I Vb5 — % %(E
Serial.write(outTime c);// OUT 22— Z;k& v FHF — 2 %L{E
Serial.write(inTime_¢);// IN 2 — 2 I V5 — X %{E
Serial.write(outTime_m);// OUT 2 — R;57 7 — X i.&13
Serial.write(outTime_s);// OUT a2 — ;¥ 5 — & i%{35
Serial.write(inTime_m); // IN 22— Z:9r 7 — X %&{3
Serial.write(inTime_s); // IN 2 — 2; 85 — X %12

Ii

il

Serial.print("¥n');

void setup()

{

Serial.begin(250000);

lcd.begin(16, 2); // start the library
led.setCursor(0, 0);

led.print("OUT"); // print a simple message

lcd.setCursor(0, 1);  // move to the begining of the second line
led.print("IN");
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void loop() {
timerIN();
timerOUT();
switcher():
LCDO);
//  printer();

proccesing();
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//Processing TX 4 ~v—% K/~ P13~15 timer2 & ffFH g
/%

* MCR Gate System ¥ U 7 V{5

* Processing fil[ 4 v 7" v

* BHFEERIEE Ver3.3

*/

/] YV TAITATITYERY ANS

import processing.serial.*;

// myPort ((TE%) tWwHr4 v Az v A2 HE

Serial myPort;

intx; //BEO X EEEOE % &

int NUM =6; //® v ¥+ — Dk

int[] receivedData = new int[NUM]; [/ v ¥ — Dfl % &N 3 5 ALYl
int secondlentM = 0; // OUT 2 — X%y

int secondlentS = 0; // OUT 22— X%

int secondITIME = 0; // OUT 2 —&x:& v 5/

intinTime m=0; //IN 22— X:4>

intinTime s=0; //IN = — x:#

intinTime ¢=0; //IN a2—Xx:%vF#%

[H================== {IPIRE ==================*/
void setup(){

// YA R

size(1080, 780); // 1024 x 768 72 L TN %

textFont(createFont("x", 15)); // HAEZEXRH, X—Ya v 7 v 7 TAE?
//frameRate(10); // 1 #Hic 10 | draw(OEFT (5 235 Lz w0 TEKT)

/] ) TAE—F DFE
// Arduino DEEFE I N T VLY )V TAFR—bCHbETEZMHZ S
myPort = new Serial(this, "COM3", 250000);

void draw(){

/] ZAZ5 v 7 7 o b 22 BT K AN
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secondlentM = receivedData[2]:;
secondlcntS = receivedDatal3]:;
secondITIME = receivedData[0];
inTime m = receivedDatal4];
inTime_s = receivedData[5];

inTime ¢ = receivedData[1];

/] ey FRHoOANTANTDT— 2% ERICES
String outTime = nf(secondlcntM, 2)+":"+nf(secondlcntS, 2)+":"+nf(secondITIME, 2);

String inTime = nf(inTime_m, 2)+":"+nf(inTime_s, 2) +":"+nf (inTime_c, 2);

println(outTime); /] TNy ZRICHT)
println(inTime); /] TNy ZTHICH T
background(255); /] BEREZEEOGAHTRY) OET

//===0UT 2 — 2 &% 4 LK R===

textSize(90); /] XFH+ A X

fill (0, 0, 255); // XFt:BLUE

text("OUT", 30, height*15/100); // "X T2 7 F A b, x JEE, y AR

textSize(220); /] XFH+ A X
fill(0, 0, 255); // XF:BLUE
text(outTime, 80, height*40/100);

//===IN 2 — R & 4 LER===

textSize(90); /] XFH AR

fill (255, 0, 0); // L FE:RED

text("IN", 30, height*65/100); // £RT %7 * & b, x JEIE, y JHEiE

textSize(220):; /] XFH AR
fill(255, 0, 0); // XF:RED
text(inTime, 80, height*90/100);

void serialEvent(Serial p){
if ( myPort.available() >=7){ // ~v & + Kfil7—% THFH 754 b
if (myPort.read() =="'H' ) { // ~v XX FEHROF 2L A H5AMS
receivedData[0] = myPort.read(); // OUT: %) #t & iA &

14



receivedData[1] = myPort.read(); // OUT: &t & 1A &
receivedData[2] = myPort.read(); // OUT: & v F ¥ &t & A A
receivedData[3] = myPort.read(); // IN: 51 %t & 1A &
receivedData[4] = myPort.read(); // IN: ¥ &t 4 1A &
receivedData[5] = myPort.read(); // IN: & v F ¥ &t A A &

/*int highl = myPort.read();

int lowl = myPort.read();

int high2 = myPort.read();

int low2 = myPort.read();

receivedData[0] = high1*256 + lowl; // OUT: 4% #t & iA &
receivedData[1] = high2*256 + low2; // OUT: )&t # A &
receivedData[2] = myPort.read();// OUT: k& v F# 5 & 1A A
receivedData[3] = myPort.read(); // IN:5) %t & 1A &
receivedData[4] = myPort.read(); // IN:#>Hi & 1A &
receivedData[5] = myPort.read(); // IN: & ¥ F 5 A id & */
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